ausoanuwuw
DIE SPRINGS

+0
D o7
107

-—

DF
DL
DM
DH

" = | ===

Us:innausy

L

WosiBudmsaua gudonua

DF nsvnaIvIN 50% 58%
DL nsbnain 40% 48%
DM nsbnavunaiv 32% 38%
DH nsvnantin 24% 28%
DB nsvnantinwify 20% 24%
dusvdiasv nsonauin
LIGHTEST LOAD CODE DF
avuon| avlu L
D|d |10 513 5 60|65 518090 |100|12 200(250(300
8 | 4
10| 5
12| 6
14| 7
) 16| 8
) 18| ¢
(9]
o 20| 11
a 22| 11
(7]
wn 25 (135
')
B 27135
= |30] s
35| 19
40| 22
50 |27.5
60| 33
Order: CODE D x L = Pcs.
DF 25 x 60 = 20
=¢ | S.T. MODERNTOOL CO., LTD. \

&
S

TEL. 0 2417-0840 (BMIULIR 8 @nel) FAX: 662-417-1441, 662-417-1484-5



ausvdawh nsonain
LIGHT LOAD CODE DL

vuan avlu L

D d 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200 250 300
8| 4
10| 5
12| 6
14| 7

8

9

16
18
20| 1
22| 1
25 (125
27 |135
30| 15
35 (175
40| 20
50| 25
60| 30

Order: CODE D x L
DL 25 x 60

Pcs.
20

duspdanav nsvnadunaw
MEDIUM LOAD CODE DM

apuon 9vlu L

D d 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200 250 300
8| 4
10| 5
12| ¢
14| 7

8

9

16
18
20| 11
22| 11
25 (135
27 [135
30| 15
35 (175
40| 20
50| 25
60| 30

Die Springs Screws H

Order: CODE D x L = Pcs.
DM 25 x 60 20

/ S.T. MODERNTOOL CO., LTD.
TEL. 0 2417-0840 (BMIULIR 8 @nel) FAX: 662-417-1441, 662-417-1484-5

>




ausodigan nsvnantn
HEAVY LOAD CODE DH

vuan avlu L

D d 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200 250 300
8 | 4

10

12

16

5
6
14| 7
8
9

18

20| 10

22|

25 (125

27 |135

30| 15

35175

40| 20

50| 25

60| 30

Order: CODE D x L
DH 25 x 60

Pcs.
20

auspalnma nsvnartnwiAy
SUPER LOAD CODE DB

ouen oulu L

D d 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125150 175 200 250 300
8| 4

10

12

16

5
6
14| 7
8
9

18

20| 10

22| 11

25 (125

smaJog sbundg eiQ H

27135

30| 15

35 (17.5

40| 20

50| 25

60| 30

Order: CODE D x L = Pcs.
DB 25 x 60 = 20

"

S.T. MODERNTOOL CO., LTD. \

&

TEL. 0 2417-0840 (BMIULIR 8 @nel) FAX: 662-417-1441, 662-417-1484-5




ausvaAsusINSuwu

SPRING FOR RETURN PIN

E.—_.r:__":
—
_ﬁ
CODE DY @y —_—
CODE DR @Esw
s7A1 s s7A1
oum | slu 810 sum | slu 19 sum | slu g1
E DY J DR J DY DR
9 20 13 30 21 40
9 25 13 35 21 50
9 30 13 40 21 60
9 35 13 45 21 70
9 40 13 50 5 @1 2! 80
9 45 13 55 21 %0
9 50 13 60 21 100
15 9 55 21 13 65 N 21 110
9 60 13 70 21 125
9 65 / 13 75 21 150
9 70 13 80 26 40
9 75 13 90 26 50
9 80 / 13 100 26 60
9 90 13 125 26 70
9 100 13 150 26 80
9 125 165 30 26 90
i 25 16.5 35 26 100
1 30 165 40 26 110
1 35 165 45 26 125
1 40 16.5 50 26 150
i 45 16.5 55 26 175
1 50 165 60 26 200
1 55 2% 165 65 32 70
17 1 60 165 70 32 80
K 65 16.5 75 32 90
1 70 165 80 32 100
1 75 165 90 32 110
1 80 165 100 32 125
K 90 16.5 110 32 150
1 100 165 125 32 175
1 125 165 150 32 200
32 250

ausudingusnd 12 G (300 mm.)

auSvdmaeogueno 12 0o (300 mm.)

un avlu s un avulu s1A1
3/8 (9.5 mm) 5 mm 10 mm 5 mm
1/2 (12.5 mm) 7 mm 12 mm 6 mm
5/8 (156.5 mm) 8.5 mm 16 mm 8 mm
3/4 (19 mm) 9.5 mm 20 mm 11T mm
17 (25 mm) 13 mm 25 mm 14 mm
1 1/4 (32 mm) 16.5 mm 30 mm 16 mm
1 1/2 (38 mm) 19.5 mm 35 mm 19 mm
2" (60 mm) 26 mm 40 mm 22 mm

/

»
=
&
O

n
®
o)

£
-
Q.

n

2

(]

S.T. MODERNTOOL CO., LTD.
TEL. 0 2417-0840 (BMIULIR 8 @nel) FAX: 662-417-1441, 662-417-1484-5

L
S




®
MITEEBD nfaausosumasgu

Gas Spring MTU ] ‘
(250-10000 kg) e i
i : :
IR .
Mg 5
Ms (TU250) i :

Sas hargng. |

N

;\

S Spring force, Newton
Stroke 150 bar/+20°C
(mm) Init. Max.
MTU250-013 12.7 3500 75.4 62.7
MTU250-016 16 3500 82 66
MTU250-038 38.1 A 3500 i - , 126.2 88.1
MTU250-050 50 3500 150 100
MTU250-080 80 3500 210 130
MTU250-125 125 3500 300 175
MTUS00-125 125 4700 6700 452 20 2 335 210
MTU750-013 12.7 12000 120.4 107.7
MTU750-025 25 12000 145 120
MTU750-038 38.1 12000 171.2 133.1
MTU750-050 50 12000 195 145
7400 50.2 25 3
MTU750-064 63.5 12000 222 1568.5
MTU750-080 80 12000 255 175
MTU750-100 100 12000 295 195
MTU750-125 125 12100 345 220
MTU1500-050 50 23000 210 160
MTU1500-064 63.5 23000 237 173.5
MTU1500-080 80 15000 23000 75.2 36 3 270 190
MTU1500-100 100 23000 310 210
MTU1500-125 125 23000 360 235
MTU3000-025 25 42000 170 145
(@) MTU3000-038 38.1 43000 196.2 158.1
© MTU3000-050 50 44000 220 170
(7)) 30000 95.2 50 3
S MTU3000-064 63.5 45000 247 183.5
%- MTU3000-080 80 46000 280 200
% MTU3000-100 100 47000 320 220
Q MTU5000-025 25 71000 190 165
o MTU5000-038 38.1 75000 216.2 178.1
5 MTU5000-050 50 77000 240 190
MTU5000-064 63.5 50000 80000 120.2 65 3 267 203.5
MTU5000-080 80 81000 300 220
MTU5000-100 100 82000 340 240
MTU5000-160 160 83000 460 300
MTU7500-038 38.1 110000 231.2 193.1
MTU7500-064 63.5 115000 282 2185
MTU7500-100 100 75000 119000 1902 % ° 355 255
MTU7500-125 125 121000 405 280
=¢ | S.T. MODERNTOOL CO., LTD. N\ |

&
S

TEL. 0 2417-0840 (BMIULIR 8 @nel) FAX: 662-417-1441, 662-417-1484-5



ST giIsinuénnSuMuNoIU
URETHENES STANDARD TYPE

UTH
a A I | o0 _
ﬂjummg RS @
. L d
D
|
UTS I B D
a o Q
PUA R L
L
D

A99919% H SHORE 90°

15 6.5 10
20 8.5 12
25 11 15
30 13 20
35 13 300 25
40 15 30 300
50 16 35
60 18 40
UTH 80 20 uUT 50
100 30 60
20 8.5 80
25 11 100
30 14 20
35 14 25
40 14 500 30
50 14 35 %
60 14 40 500 o
80 22 50 cc,n)
100 22 60 g
80 C%
Order: CODE D x L = Pos. 100 5

UTS 60 x 300 10 Pcs.

&
S

/ S.T. MODERNTOOL CO., LTD.
TEL. 0 2417-0840 (BMIULIR 8 @nel) FAX: 662-417-1441, 662-417-1484-5




ST gISINUeRSULIUKLN
URETHENES HEAVY LOAD TYPE

HUTH
AAIIT
U
= S
L d
D
HUTS
AUAAL
e K
Q
- :
D
@M1 H SHORE 90°
CODE D d L S1m
10 4
15 7
20 8.5 300
25 11
30 14
HUTH HUTS
40 14 40
500
50 14 500 / 50
)
o 60 14 60
(9]
°
E- 80 22 80
Q
wn
Q 100 22 100
®
5 Order: CODE D x L = Pcs.
HUTH 40 x 500 = 10
=¢ | S.T. MODERNTOOL CO., LTD. \

&

TEL. 0 2417-0840 (BMIULIR 8 @nel) FAX: 662-417-1441, 662-417-1484-5




ST gisinustianwu
POLY-URETHANE SHEETS

UTE  dwmsuaunilyl @sesuanm)
HUTE  @%suanuntin @mn)

H SHORE A 90°
300(W) x 300(L)
s1m
UTE HUTE

500(W) x 500(L)

)
UTE HUTE

n

S

o

60 20 3

70 5 2

(=

80 30 =

40 ()

()

100 50 a
Order: CODE T x W x L = Pcs.

UTE 5 x 300 x 1000 = 1
/ S.T. MODERNTOOL CO., LTD. :

&

TEL. 0 2417-0840 (BMIULIR 8 @nel) FAX: 662-417-1441, 662-417-1484-5




ST HRONLWLWIUUINGED
HOOKS BOLT TYPE

we NS

&

f—— M sa5C

L f9uen

No.M x P H C [ subninliKgsies  SIM
10 |10x15| 13 | 32 | 10 | 20 | 16 8 | 4 | 15| 5 8 |92 250
12 12x175| 16 | 36 | 13 | 24 | 20 10| 57 [ 15 ] 6 0 |17 360
16 (16 x20| 20 40 18 30 25 13| 75 9 14 1163 680
HBT |20 [(20x25| 25 | 48 | 20 | 37 | 32 16| 90| 2 | 12|17 [198 1,060
24 |24x30| 32 | 58 | 25 | 47 | 40 20 | 11| 25| 13 19 | 22.1 1,530
30 (30x35( 36 | 68 | 30 | 56 | 48 22 | 131 | 3 16 | 22 |256 2,430
36 (36x40| 40 | 78 | 30 | 68 | 58 25 | 148 | 3 18 | 27 | 314 3,550

ST KROILWLWIIUUKOD
LIFTING EYE BOLTS

L AType B Type
Vertical lift  Lift by 45 degrees

M 55400
JIS1168

%‘ Maximum permissible load N {kgf}
wn A : Vertical 1pc. | B: 452 Pcs.
g. 8 |8x1.25 (32620 (63|16 (33315 | 3 | 6 |10]92 80 80
Qa 10 (10x15 |41 |25 | 8 |20 |415] 18 | 4 | 7712|112 150 150
on 12 (12x 17550 [ 30 | 10 |25 |51 [ 22 | 5 | 94| 1.4 |14.2 220 220
% 16 [16x20 | 60 | 35 |125]|30 |60 [ 27 | 5 | 13| 1.6 |18.2 450 450
s HL (20 |20x25 |72 |40 |16 |35 |71 |30 | 6 |164] 2 [224 630 630
4 24 |24x30 | 90 |50 | 20 [ 45 [ 90 | 38 | 8 |19.6] 25 [26.4 950 950
30 |30x35 |110|60 |25 |60 [110|45 | 8 | 25| 3 [334 1500 1500
36 |36 x40 | 133 70 |31.5] 70 [131.5] 55 | 10 | 30.3| 3 [39.4 2300 2300
42 |12 x 45 | 151 | 80 |355| 80 [150.5| 65 | 12 | 35.6| 3.5 [45.6 3400 3400
=¢ | S.T. MODERNTOOL CO., LTD. N\

'@J TEL. 0 2417-0840 (SATULIR 8 Anel) FAX: 662-417-1441, 662-417-1484-5



ST

anauauso

ALL PLUNGER

CODE : BPJ
CODE : BPS (nuudincauiad)

&

Mxp

min md x load

4 mm 4 x 0.7 25 1.0 2 9 0.3 1.0
5 mm 5x08 3.0 1.0 25 12 05 1.5
6 mm 6x10 3.5 1.2 3 14 0.7 2.0
8 mm | 8x125 5.0 1.8 4 16 0.9 2.5
10 mm | 10x 15 6.0 2.0 5 19 1.0 3.0
12 mm | 12 x 1.75 8.0 3.0 6 22 1.6 5.0
16 mm | 16 x 20 9.5 3.0 8 25 2.0 8.0

fionthinannaznapindon

]

C

»
=
&
O

n
®
o)

£
-
Q.

n

2

(]

/

TEL. 0 2417-0840 (BMIULIR 8 @nel) FAX: 662-417-1441, 662-417-1484-5

S.T. MODERNTOOL CO., LID.

&




Jodatnnovindon

M-PC (Straight Joint Plug - Spanner type)

[0 Body : Brass (C3604) + Nickel plating
Release ring : Polyacetal resin (POM)
Thread : Brass (C3604) + nickel plating
Thread JIS B 0203 tapered thread for tubing R (PT)
*Thread part is applied with sealant.

e Use in normal pressure 300kPa (3kgf/cm®) or lower
e Keep water temperature under 60°C

e Set thesurge pressure (thepressure that actts instantaneously
due to an impact flow) so that it does not exceed the
maximum working pressure (300 kPa)

Matching tubes ~ Tube Inserting hole Part Number U/Price
d a R (PT)
Outer x Inner dia. Hole dia. P Depth C Type No. 1~19
17.0 10 8 1 —
4x25 4 15 3 21.0 /8 4 — 01
15.0 14 11 1/4 4 —02
22.6 18.6 12 8 1/8 6 —01
6x4 6 17 4.6 24.6 18.5 14 11 1/4 6 — 02
23.6 17.2 17 12 3/8 6 — 03
6 27.9 23.9 ” 8 1/8 8 —01
8x6 8 18.5 ,; 26.6 20.6 1 1/4 M — 8 — 02
23.9 17.6 12 3/8 8 — 03
6 30.3 26.3 . 8 1/8 10 — 01
10x 7.5 10 21 y 29.8 23.8 11 1/4 10 — 02
: 29.3 23 12 3/8 10 — 03
8.5 35.9 29.9 11 1/4 —
12x9 12 235 21 i Nz W02
n 319 256 12 38 | | 12 —03

M-PCX (Straight Joint Plug - Spanner type)

[0 Body : Brass (€3604) + Nickel plating
Release ring : Polyacetal resin (POM)
Thread : Brass (C3604) + nickel plating
Thread JIS B 0203 tapered thread for tubing R (PT)
*Thread part is applied with sealant.

Tube nseried —H—T3
selion | S|
sl

e Use in normal pressure 300kPa (3kgf/cm®) or lower
e Keep water temperature under 60°C

e Set thesurge pressure (thepressure that actts instantaneously
due to an impact flow) so that it does not exceed the
maximum working pressure (300 kPa)

o
@
() Matching tubes ~ Tube Inserting hole Hexagonal wrench Allen side Part Number U/Price
o] size a R (PT)
=_ Outer x Inner dia. | Hole dia. P~ Depth C d Type No. 1~9
8 4%25 4 15 2.5 21.0 17.0 10 o e 4 —01H
n 22.6 186 12 6 — 01H
n 6x4 6 17 4
4 24.6 18.5 1 1/4 M —PCX | 6 —02H
o 6x 6 6 o5 5 27.9 23.9 14 8 1/8 8 — 01H
s 6 26.6 20.6 1 1/4 8 — 02H
(7]
¢ | S.T. MODERNTOOL CO., LTD. N\ .

&
S

TEL. 0 2417-0840 (BMIULIR 8 @nel) FAX: 662-417-1441, 662-417-1484-5



dNSHIDUINAED L.
SOCKET HEAD CAP SCREWS MM THREAD

M X P

L M sCMm 435
H 38-43 HRC
Nem 12.9

CB 100
110
120
125
130
140
150
160
170
180
190
200
210
220
230
240
250
260
280
300

»
=
&
O

n
®
o)

£
-
Q.

n

2

(]

&
S

/ S.T. MODERNTOOL CO., LTD.
TEL. 0 2417-0840 (BMIULIR 8 @nel) FAX: 662-417-1441, 662-417-1484-5




ST aasuiosiuvan

STRIPPER BOLTS

G = MxP
- |v5/_ [=] /
H=n i _n=n
0,
B c J / .
A E IS L+0.1 S F
M sCM 440
H 38-40 HRC
De9 A B C E F MxP
-0.020
55 -0,050 2 3 22 4 7 4%x07
65 10 4 25 5 o 5x 0.8
8 '8'82? 13 5 3 6 9 6x 1.0
10 16 o 4 A 1o 8 x 1.25
12 003 17 8 x 1.25
13 ol 18 8 5 10 16 10 x 1.5
16 ' 24 10 7 14 18 12 x 1.75
20 -0.040 27 14 9 18 24 16 x 2.0
-0.092
CODE D L sm
20 25 30 35 40
55 45 50
10 15 55
20 25 30 35 40
6.5 45 50 55 60 65 70
1015 75 80
20 25 30 35 40 45
8 50 55 60 65 70 75 80 85 90
10 15
20 25 30 35 40 45 50 55
10 60 65 70 75
mMSB 80 85 9095 100 110 120
10 15
25 30 35 40 45 50 55
») 12 60 65 70 75
o 15 20 80 85 90 95 100
_g) 20 25 30 35 40 45 50 55 60 65 70
=_ 13 75 80 85 90 95 100
«'-:’ 10 15 110 120 130
77} 20 25 30 35 40 45 50 55 60 65 70 75 80 85
(d)] 16 90 95 100
Q 15 110 120 130 140 150
g 20 60 70 80 90 95 100
b 40 50 110 120 130 140 150
S.T. MODERNTOOL CO., LTD. \ ,

&
S

TEL. 0 2417-0840 (BMIULIR 8 @nel) FAX: 662-417-1441, 662-417-1484-5



ST ‘walaesluar
PULLER BOLTS

M (Coarse thread)

G
— 1.
e
S e & -
:V —lt=====
o : .
H | K L+8'3 Deg
. M scm 440
H 38-40 HRC
CODE C K H B M x ! D L s 1m
40 50 60 70
80 90
4 8 16 6 M6 x 17 10 100 110 120
130 140 150
60 70
80 90
100 110 120
5 10 18 8 M8 x 20 13 | 130 140 150
160 170 180

190 200 210
220 230 240 250 260

100 110 120
130 140 150
7 14 24 10 M10 x 23 16 160 170 180

PBA
190 200 210

220 230 240 250 260

120 130 140 150
160 170 180
9 18 27 14 M12 x 26 20 190 200 210 -
220 230 240 250 260 %
280 300 5
170 180 2
n
190 200 o))
=
0| 18| 3 | 17| Meéxs | 25|20 220 5
230 240 n
)
250 260 K<)
()]
280 300
Order: CODE D x L = Pcs.
PBA 13 x 100 = 1
/ S.T. MODERNTOOL CO., LTD. :

TEL. 0 2417-0840 (BMIULIR 8 @nel) FAX: 662-417-1441, 662-417-1484-5

L
S



S T atiouidosluan

STOPPER BOLTS

M (Coarse thread)

N
1 eF=

Cd—
1K L0z E
M scm 440
H 3840 HRC
] M x / D L E s1m
10 19 24
4 8 16 6 M6 x 17 10 15 19 24 29
20 19 24 29 34
10 22 27

15 22 27 32 37
20 22 27 32 37 42

5 10 18 8 M8 x 20 13 25 57 2 37 0
30 27 32 37 42 47
35 37 12 47
10 30 35

15 30 35 40
20 30 35 40 45
25 30 35 40 45

7 14 24 10 MI10 x 23 | 16

STB

30 35 40 45 50 85
35 45 50 55
15 38 43

20 38 43 48
25 38 43 48 53

9 18 27 14 M12 x 26 | 20

30 48 53 58
%— 35 48 53 58
n 45 53 58
g_ 15 | 44 49
8 20 49 54 50
2) 10 | 18 | 33 | 17 | M6x32 | 28 | 25 49 54 59
Q 30 49 54 59 64
g 40 54 59 64 69
(/7]
Order: CODE D x L x E = Pcs.
STB 10 x 20 x 24 = 1
¢ | S.T. MODERNTOOL CO., LTD. AN

TEL. 0 2417-0840 (BMIULIR 8 @nel) FAX: 662-417-1441, 662-417-1484-5

&
S



ST screw eins

2.C t MxP

%
|

S
:

—
B L+0.3 3 M sCMm 435
H 37-43 HRC
CODE M MxP L t B s1m

3 3 05 3 1.2 1.5
4 4 0.7 4 1.5 2
5 5 0.8 5 2 2.5
6 6 1.0 6 2 3
8 8 1.25 8 3 4
10 10 1.5 10 4 5
12 12 15 10 5 6
14 14 1.5 10 5 6
16 16 15 10 5 8
MSW 18 18 | 10 5 10
20 20 15 12 6 10
22 22 1.5 12 6 12
24 24 1.5 12 6 14
25 25 1.5 12 6 14

26 26 1.5 12 6 14 0

27 27 1.5 12 6 14 §

28 28 15 12 6 14 y

30 30 116 12 6 17 2

=

33 33 1.5 12 6 17 &

No 1 1/8R (PT) 7 5 '3
No 2 1/4R (PT) 8.9 6
o No 3 3/8R (PT) 10 8
No 4 1/2R (PT) 12 10
No 6 3/4R (PT) 14 14
No 8 1R (PT) 165 17

/ S.T. MODERNTOOL CO., LTD. :

L
S

TEL. 0 2417-0840 (BMIULIR 8 @nel) FAX: 662-417-1441, 662-417-1484-5



S T atiouidosluan

STOPPER BOLTS

! — _u (m]

P o | o' O

A~ | . . :

IRy AW . _I | ¢ e e — e e . o)
I = . | | } Er&
i\ || |
W S
T | Lz0.1 £ '

-0.36 -0.36
19 35
13 i 8 5 18 10 M8 24 8
: 24 40
15 35
16 24 M10 26 10 20 40
o _8 o -y 30 45
8) ' 0 20 45
% 20 28 043 | M2 30 14 0 0
— O
=}
Q -0.20 35 55
0 31 60
g 25 33 062 18 M16 38 17
@ 41 65
s
wn
=¢ | S.T. MODERNTOOL CO., LTD. \

&
S

TEL. 0 2417-0840 (BMIULIR 8 @nel) FAX: 662-417-1441, 662-417-1484-5



